irst Quarter (Chapters 1-2)

4. A moving company charges $40 plus
$0.25 per mile to rent a van. Another
company charges $25 plus $0.35 per
mile to rent the same van. For what
number of miles will the rental cost be
the same for both companies?

Dipm—

2Sx+40
_35‘)( -I'ZS‘

*A, 150 mlles
=

B. 180 mlles

C. 260 miles

D. 650 miles

25%+99 =
oS‘x"’l‘S

)
'@S'xfr
f:i?")’ -

a——

~

3. Which point on the number line
shows V457
F G H |
‘—é—0—+—|—|—6¢5—|—+—+—¢—;-— 6. Which value is equivalent to 4-*?
A 12 ) I
F. point F'
~\ ’ —
~(, ;' B. -1
G. point G HSMC br} )
1
*H. point H C— ’ .~
1 i ‘1
I. point ] *D. r7g — (l
Ul" UJ
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. SHORT ANSWER What is the result

when the monomial —5x%y?% is raised to
the third power? -

-125x°%°%z3

E

f

~125 ><~/Z

Tha arna af a ennara livine ranm ie







] a -
)\ length of the triangle. What is the area
of triangle below? Round to the nearest

2B Solve the equation below for ¢.
3t —5=-21+1

- ACHS -~ o T
F. -52
2 =16

G. -2 2=

2.

H. —-13

*L. -8
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